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S=R-E
SEE RN
SUTBHA 75

SA - BB B () - MM - BES Ol &t o San HmEET
o 2,162,764
S AR 4,200 4,200 0
301 gEtE L= 4,200 4,200 0
09 HALAHIEA S 4,200 4,200 0
OdsJdle ¥ s u=s 24 4,200
MASEHEIZNZNES 4,464,086 4,362,760 101,326
J| 4,464,086
301 L2 A S 4,464,086 4,362,760 101,326
J| 4,464,086
12 JIEtEA 3 4,464,086 4,362,760 101,326
OASEMNZNEN =S 4,464,086
J| 4,464,086
rH=elA=2 572,843 549,237 23,606
J| 458,274
< 34,371
s 80,198
301 e A= 572,843 549,237 23,606
J| 458,274
< 34,371
[ia 80,198
12 J|EtE &= 572,843 549,237 23,606
OxH=EeldEZ 572,843
J| 458,274
< 34,371
e 80,198
RAelW3a EX K& 105,000 105,000 0
= 31,500
s 73,500
402 RI2FX=201 M 105,000 105,000 0
< 31,500
s 73,500
02 QI EAILEZ (01X THS) 105,000 105,000 0
ORXel 28 dx(22)X 105,000
< 31,500
[ia 73,500
MRS sAld - UM X 380,000 538,350 A 158,350
402 RIZ2EX20l ™ 380,000 538,350 A 158,350
01 RIZt Xt 2 AL E = (REATH &) 380,000 538,350 A 158,350
O =24 E& XI& 300,000,000& * 50/100 150,000
OxRXteldwa M XI& 130,000
-dE, SEATN, HHE
260,000,000 * 50/100 130,000
OH sX - SRaX2M XA
200,000,000& * 50/100 100,000
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CHE - EI(SA) - NRAY - B S

!

=
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2

A9
Of

og

66,000

227,500

A 161,500

66,000

227,500

A 161,500

1,000,000& = 5604
1,000,000& = 10CH

66,000
66,000
56,000
10,000

227,500

A 161,500

EURLY

217,107

65,132
161,975

149,875

67,232

M

125,307

37,592
87,715

39,375

85,032

°

Mo

125,307
125,307

37,592
87,715

39,375

85,932

M

91,800

27,540
64,260

110,500

A 18,700

UL

91,800

91,800

27,540
64,260

110,500

A 18,700

EUNL

218,213

65,464
162,749

EURE

218,213

65,464
162,749

Mo

218,213
218,213

65,464
152,749

M H

12,960

2,592
10,368

12,960

UL

12,960

2,592
10,368

12,960

M

12,960
12,960

2,592
10,368

12,960

28,800

28,800
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S=R-E
SEE RN
SUTBHA 75

SN EB S (3H) - NEAY - BES ofl &k o San HDE2

== 8,640
= 20,160

402 QI2H X2 0| & 28,800 28,800 0
= 8,640
= 20,160

02 BIZEXIEAMNYEX(0OIETHH) 28,800 28,800 0
OFA0IE40] MASX X& 28,800
o= 8,640
= 20,160

UsHA=E= 1,946,001 1,793,594 152,407
Dl 1,946,001

301 dEtE A= 1,946,001 1,793,594 152,407
Dl 1,946,001

12 JIEtE &2 1,946,001 1,793,594 152,407
Ogdsgd =22 1,946,001
Dl 1,946,001

MMASAHE S A K& 4,000 4,000 0

301 dEtE A= 4,000 4,000 0

09 HAIAHIBAZ 4,000 4,000 0
O/MA=HE G AN FHIF 24 4,000

IO AE XIS ALS 216,000 229,500 A 13,500
= 216,000

301 LBt A= 216,000 229,500 A 13,500
= 216,000

12 JIEtE &2 216,000 229,500 A 13,500
O Molsot 29otd X & 216,000
o= 216,000

=EY HISRA Aes) XS 150,000 92,000 58,000
& 45,000
= 105,000

301 dEtE A= 150,000 92,000 58,000
& 45,000
= 105,000

12 JIEtE &2 150,000 92,000 58,000
O=EY HASR AT 4 150,000
= 45,000
= 105,000

SIHSSHEX 22X 31,000 32,000 A 1,000
= 12,400
& 5,580
= 13,020

402 SI2F X2 0| & 31,000 32,000 A 1,000
= 12,400
o= 5,580
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Off &t 24
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13,020

02

M A

31,000

31,000
12,400

5,580
13,020

32,

000

1,000

S
o
A

EUNE

91,532

27,460
64,072

80,

360

11,172

402

Mo

91,532

27,460
64,072

80,

360

11,172

02

M

91,532

91,532

27,460
64,072

80,

360

11,172

EUNL

16,200

4,860
11,340

,600

3,600

402

EUNL

16,200

4,860
11,340

,600

3,600

02

DIZIH2ASE X (01 ETHR)

OszgYg AEASEY X

M

16,200

16,200

4,860
11,340

,600

3,600

2= AN X

EURLY

601,065

180,319
420,746

629,

N27,945

402

M H

601,065

180,319
420,746

629,

N27,945

02

QIZIX A S 2= (0 MTHA )
o

O==g 2+ st X3

EUNL

601,065

601,065

180,319
420,746

629,

N27,945

0
N
e

SUNE

100,000

30,000
70,000

100,

000

307

Mo

100,000

30,000
70,000

100,

000

02

100,000,000& = 100

H

100,000

100,000
30,000

100,

000
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HE: sARWA 23
el sSMHXEHA 2= (Sl & &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| o 70,000
DESAN s sk 100,000 100,000 0
301 gt d= 100,000 100,000 0
12 JIEtE &= 100,000 100,000 0
OnNFIAMN =g d=Hl N
1,000,000& * 100ha 100,000
= Et& S THHHXIR ALY 717,400 618,800 98,600
= 573,920
=3 43,044
s 100,436
301 LAz 717,400 618,800 98,600
= 573,920
< 43,044
[ia 100,436
12 JIEtE& = 717,400 618,800 98,600
= Et&E THHHRI A 717,400
= 573,920
< 43,044
e 100,436
MY IHEHES AL 22/ 44,991 0 44,991
J| 44,991
101 @124 dl 6,680 0 6,680
J| 6,680
04 JIZHHZ22XREE S 6,680 0 6,680
OXEXA=ZCH=H JIZH 2 6,680
J| 6,680
201 Let24E] 12,848 0 12,848
J| 12,848
01 At 22l 12,848 0 12,848
OMEXA=CHEN SFH 12,848
J| 12,848
202 O4dl 25,463 0 25,463
J| 25,463
01 =L 4 Hi 25,463 0 25,463
osgxzAn=c/dEHM 0l 25,463
J| 25,463
S=HA =0 XA 300,000 0 300,000
402 RIZER201 A 300,000 0 300,000
01 U2 EALE X (KA ) 300,000 0 300,000
O AEBME Y L &yl N
600,000,000 * 50/100 300,000
FMH =08 28 TZEE AY 50,000 0 50,000
< 15,000
s 35,000
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S=R-E
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SUTBHA 75

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 50,000 0 50,000
< 15,000
s 35,000
02 PIZHEHAHE L 50,000 0 50,000
OsMH =18 88 C8ES
50,000,000& * 1JH A 50,000
< 15,000
s 35,000
EdEsgd =54 5,731,564 4,590,098 1,141,466
= 1,893,787
< 286,430
s 3,551,347
HEdsgA= 225,910 225,910 0
= 225,910
301 et A3z 225,910 225,910 0
= 225,910
12 JIEtE &= 225,910 225,910 0
Ozd=sgy == 225,910
= 225,910
EQMEH K& 520,706 390,484 130,222
= 353,566
< 83,570
e 83,570
402 RI2EX=20l A 520,706 390,484 130,222
= 353,566
< 83,570
s 83,570
02 QI EAIL EZ (01X S) 520,706 390,484 130,222
OE2LIHEH K& 520,706
= 353,566
< 83,570
[ia 83,570
AEZIS s KA 718,000 483,000 235,000
402 RIZ2tXt20l ™ 718,000 483,000 235,000
01 212t 2 AL E = (REM ) 718,000 483,000 235,000
Ooz&d JIsdiM XN&
1,500,000& = 160ha * 50/100 120,000
Orsd SII=sX M K& 418,000
-FsA0S 1,500,000& * 200ha * 60/100 180,000
-RIIseE 2,000,000% * 170ha * 70/100 238,000
OzIsd MAXE & 180,000
Jlsd XA 91,750 114,550 A22,800
402 RI2HX=20| M 91,750 114,550 A22,800
01 2I2E Xt EAS B (KM ) 91,750 114,550 A 22,800




SN S
HE: sARWA 23
ool AEASY S4 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ORDFAZXI, MEI XA 20,000
Onzda HIHE XE 71,750
dtdsy 29 € N2 1,278 5,706 N4,428
202 04l 1,278 5,706 A4, 428
01 = LH 4 Hi 1,278 5,706 A4, 428
OzI=sZYER =8 1,278
SII&2dlg XN& 2,065,340 1,682,133 383,207
= 1,280,511
s 784,829
402 RI2EA=20| A 2,065,340 1,682,133 383,207
= 1,280,511
s 784,829
02 QI EAILSEZ (01X ) 2,065,340 1,682,133 383,207
O®JI&dls XA 2,065,340
= 1,280,511
s 784,829
MEA=sds St K 80,000 80,000 0
301 et a3z 80,000 80,000 0
12 JIEE4 3 80,000 80,000 0
OHBHUZS U MR QA X
200,000& = 400A 80,000
et siE s 45 AHY 273,850 209,850 64,000
< 81,570
e 192,280
201 L2l 5,850 5,850 0
< 1,170
= 4,680
01 At 2t 2l 5,850 5,850 0
ORJlsd d2II=X B3 5,850
= 1,170
s 4,680
301 et A3z 260,000 192,000 68,000
< 78,000
[ia 182,000
12 JIEtE4 = 260,000 192,000 68,000
Hlls s st #3E2HH XA 260,000
< 78,000
e 182,000
307 glz2+ol & 8,000 12,000 A 4,000
= 2,400
s 5,600
02 It MAHE X 8,000 12,000 24,000
ORJl=s S EUE /& sl 8,000
< 2,400




SN SR
HE: sARWA 23
ool AEASY S4 (29l & 2)
= — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| o 5,600
TS BE B MAALES A 40,000 0 40,000
= 20,000
< 6,000
s 14,000
402 2I2HXHE01 M 40,000 0 40,000
= 20,000
< 6,000
s 14,000
02 QI E2AE EZ (OIS ) 40,000 0 40,000
O S ZEHHLAE SUHE 40,000
= 20,000
< 6,000
s 14,000
OtAIOH XIZE R |II=82A3 =l 305,000 271,000 34,000
202 044l 20,000 20,000 0
03 =L S 20,000 20,000 0
OALGOA 2/ &= =HEA & 32 &4
5,000,000& = 43l 20,000
307 glz2+ol & 275,000 215,000 60,000
02 It M AHEE 275,000 215,000 60,000
OOtAIOF RIISAEX = 50,000
OALGOA 2Z Y ALGOA+HAXE A Z XIS JH=l 200,000
OBiofach ALGOA(ZI&Z) EERA 2Y 25,000
310 A0l & 10,000 20,000 210,000
02 ZHNRE= 10,000 20,000 A 10,000
OALGOA =X = 10,000
FIls HAEYE R 200,000 0 200,000
201 Let24d] 20,000 0 20,000
01 At 22l 20,000 0 20,000
ORJls HAEY B 20,000
307 glz2tol & 180,000 0 180,000
02 It MAMHEE 80,000 0 80,000
OZHMEHEA A2 & 23 50,000
O=H st=& At 30,000
04 QIZFHALAIH E = 100,000 0 100,000
02019 WA&RI|=s HAEIE IHA 100,000
SIZUIZ2XJ A (XA 599,500 600,000 A 500
301 et A= 49,500 0 49,500
12 JIEE4 3 49,500 0 49,500
OFLsIt SS+H(HIZHLSH)
1,980& * 25,000& 49,500




SN SR
HE: sARWA 23
ool AEASY S4 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
402 BI2FX=01 M 550,000 600,000 A50,000
01 2I2E 2 A B (KR ) 550,000 600,000 A 50,000
O®JIZdlz XA 550,000
HIls4&td SN & IR = 59,270 52,628 6,642
201 L4l 30,700 30,700 0
01 At 22l 30,000 30,000 0
ORJIsdtd 88 30,000
02 =24l 700 700 0
O2HRIN=L25HU(IFOAM, [FOAM ASIA) &
2/l 700
202 (4l 28,570 21,928 6,642
01 =i HI 11,070 4,428 6,642
ORJIsttdy SHXd g2=2 11,070
03 22 L0l 17,500 17,500 0
OZMRI=tHal (e&hal) 20
3,500,000& » 59H 17,500
I SS T & AL 34,500 34,892 A 392
= 13,800
< 6,210
s 14,490
402 RI2FX=01 M 34,500 34,892 A 392
= 13,800
< 6,210
s 14,490
02 QI EAILSEZ (OIS ) 34,500 34,892 A 392
ORIIsgAM XA 34,500
= 13,800
= 6,210
[ia 14,490
MEd=sdEe US=sI 84 100,000 100,000 0
< 30,000
[ia 70,000
301 et a3z 100,000 100,000 0
< 30,000
e 70,000
12JIEBE243 100,000 100,000 0
Oz adsets esslt 54 100,000
< 30,000
s 70,000
LEIAYUSSHME=XS A 42,000 67,272 N25,272
< 12,600
[ia 29,400
402 RI2EX 20| ™ 42,000 67,272 A25,272
< 12,600
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L= B

el

S=R-E
SR RN
N A=Y |4

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
o 29,400
02 It EAIL EZ (01X S) 42,000 67,272 N25,272
Ozed 240l s XN 42,000
< 12,600
[ia 29,400
)= 2 HRF 12,500 22,500 A 10,000
202 odl 12,500 12,500 0
03 =22 S0 bl 12,500 12,500 0
O=HMEHTA(H43 OLAIOIRII=sUSE) W&
A 2,500,000& = 5% 12,500
®J)ls 0lLI2HAH 2 X 55,000 55,000 0
308 AXIEtH S0l A 55,000 55,000 0
10 BN 2SUHUE3AHAE A 55,000 55,000 0
#J)ls OILIZ2dAH 24
55,000,000& * 102 55,000
FIlsatS A XJAHY 188,360 160,573 27,787
< 56,500
s 131,860
402 RI2EX=20l A 188,360 160,573 27,787
< 56,500
s 131,860
02 QI E2AIL EZ (01X THS) 188,360 160,573 27,787
ORIIstt=s 8L X 188,360
< 56,500
i 131,860
FINSAE AEXA 6,600 0 6,600
< 1,980
[ia 4,620
301 L2 A F 6,600 0 6,600
< 1,980
[ia 4,620
12 JIEtE 43 6,600 0 6,600
KIS AS eEHE XA 6,600
< 1,980
e 4,620
FIJESSM ZEMHA A 28,000 28,000 0
< 8,000
= 20,000
402 QIZ2HAHE01 M 28,000 28,000 0
< 8,000
= 20,000
02 QIZEHEAILSEZ (01X ) 28,000 28,000 0
ORIIIBYH &=28 Z&M XA 28,000
< 8,000




SN S
HE: sARWA 23
ool AEASY S4 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| o 20,000
mI)ls SS22H 2= 84,000 0 84,000
207 & 00 &l 30,000 0 30,000
01 2284 30,000 0 30,000
ORJls SS2A2M *= BEHEH 30,000
301 Ler2a = 54,000 0 54,000
12 JIEE4 3 54,000 0 54,000
Ozgadsits zlx 25 NH 34,000
ORJls d& 48 3 N 20,000
b= MADIEH X4 2,315,050 2,463,210 A 148,160
J| 1,131,950
< 201,985
s 981,115
= SEEY 273,960 423,960 A 150,000
402 2I2H X201 A 273,960 423,960 A 150,000
01 2IZE 2 A B (KM ) 273,960 423,960 A 150,000
OALLL BHALE S 50,000
OB SX X2 (A2, B, =0t
20& * 10,620,00000 * 40/100 84,960
OS8gnLHddl XA (= L W)
800,000 = 10CH = 50/100 4,000
Oit= Hd8I| X&
10,000,000& * 5CH * 50/100 25,000
OSSE2Il X&
20,000,000 = 11CH = 50/100 110,000
A DSE MAAL S 350,000 240,000 110,000
Jl 140,000
< 63,000
e 147,000
402 RI2EX=20l A 350,000 240,000 110,000
J| 140,000
= 63,000
i 147,000
02 LA TEALEZ(0IETHR) 350,000 240,000 110,000
Oit= NSE MAAIE U 350,000
J| 140,000
< 63,000
s 147,000
2o=s AL XA 86,750 86,750 0
402 RI2HXt20l ™ 86,750 86,750 0
01 212t 2 AL E = (REM ) 86,750 86,750 0
ORKZE LI X

3,470,000& * 50ha * 50/100 86,750




SN S
HE: sARWA 23
ol D MADIBE EH (c9: & 9)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= MeUlol JIsAda X A 99,000 99,000 0
402 BI2H X 20| M 99,000 99,000 0
01 It EANSEXZ (MMM A) 99,000 99,000 0
OJIsHAXM X (AD, E=0H) 99,000
WA E2AMAEY K& 95,000 100,000 A5,000
= 28,500
= 66,500
402 SI2FXHE20| & 95,000 100,000 A5,000
= 28,500
= 66,500
02 BIZtXIEANYEX(0IETHH) 95,000 100,000 A5,000
Ot E82 MAZRH XS 95,000
o 28,500
= 66,500
A MEEMACST JIBFEAALY 1,224,440 1,377,000 A 152,560
J| 981,000
=} 73,000
= 170,440
403 XX SRS K20 & 1,224,440 1,377,000 A 152,560
J| 981,000
= 73,000
= 170,440
02 2| 2SO Uet 2= EAS Y 1,224,440 1,377,000 A 152,560
OHE SN+ BAXSMHACX JIEtxHd 320,640
J| 257,000
& 19,000
= 44,640
O¢E MEXNF LNANMSMACT IS 903,800
J| 724,000
o= 54,000
= 125,800
WA S SHA XX & 114,000 129,000 A 15,000
& 34,200
= 79,800
402 SI2F X0l ™ 114,000 129,000 A 15,000
= 34,200
= 79,800
02 QX2 A E X (0| THS) 114,000 129,000 A 15,000
Ot SAEA BIAIEHE X & 67,500
= 20,250
= 47,250
O ANEE XM K 46,500
=} 13,950
= 32,550
D4 LATH ST XA 50,000 0 50,000




SN SR
HE: sARWA 23
SR BN (el @2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
402 BI2FX=01 M 50,000 0 50,000
01 2I2E 2 A B (KR ) 50,000 0 50,000
Ot dAadlol JIsd XM 50,000
TSEoud gta XA 21,900 0 21,900
J| 10,950
< 3,285
i 7,665
307 glz2+ol & 21,900 0 21,900
J| 10,950
< 3,285
e 7,665
02 HAFHAANEEE 21,900 0 21,900
OxzSSsSud W2t K& 21,900
J| 10,950
< 3,285
s 7,665
Ha ZHALE 1,094,586 1,099,700 A5, 114
J| 113,564
< 31,950
i 949,072
A AR BE &2 E (KA 705,676 681,450 24,226
402 RI2HXt20l ™ 705,676 681,450 24,226
01 212t 2 AL E = (REM ) 705,676 681,450 24,226
ORLHMAIE XA
27,000,000& = 1.5ha * 50/100 20,250
OA2n8 M2M&1 X&
6,000,000& * 60CH * 50/100 180,000
O0=& eIRHI0IH XI&
453  1,836,69001 * 50/100 41,326
OMA dMaEX X&
1,410,000& * 20ha * 50/100 14,100
OH=SA0tAHE &H XI& 70,000
O30MaAIE XA 80,000
OHIJIEdtRAANE K& 300,000
SEY FMUMANE X2 105,000 75,000 30,000
< 31,500
s 73,500
402 RI2EXt20| ™ 105,000 75,000 30,000
= 31,500
s 73,500
02 It 2 AL EZ(OI XIS ) 105,000 75,000 30,000
Oz XEE JMYUMAE B 105,000
< 31,500
i 73,500
A0 SEMNEAL (HIIOIEAIE) 281,410 87,500 193,910
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el
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B 12 12

L 0¥ 0
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0!
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2
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09
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Jl 112,564
s 168,846
402 RI2EX=20| A 281,410 87,500 193,910
J| 112,564
s 168,846
02 QI EAISEZ (OIS ) 281,410 87,500 193,910
ODFHIDIEMBIAIE X & 281,410
J| 112,564
s 168,846
ANE2U ICT 858 ot ALY 2,500 0 2,500
J| 1,000
< 450
[ia 1,050
402 RIZ2EXt20l ™ 2,500 0 2,500
J| 1,000
< 450
s 1,050
02 2IZt 2 AL EZ (OIS ) 2,500 0 2,500
OAIZ&0 ICT 8= =t 2,500
J| 1,000
< 450
e 1,050
EX . ESEs =4 1,344,437 1,171,528 172,909
= 62,330
< 320,128
s 961,979
tstEd=ss |4 94,000 64,000 30,000
402 QI2H X201 M 94,000 64,000 30,000
01 2I2F 2 A E = (REMTH ) 94,000 64,000 30,000
o2+ s & 64,000
Ot 2 s&= I XN&E 30,000
LEH AT 168,372 168,372 0
402 RIZ2EXt20l ™ 168,372 168,372 0
01 212t 2 AL E = (REM &) 168,372 168,372 0
Ot MaXA 561,240,000& = 30/100 168,372
ol SHXA 209,000 125,250 83,750
402 2I2H X201 M 209,000 125,250 83,750
01 2IZE 2 A B (RERTH ) 209,000 125,250 83,750
ORJls sIMH XA
3,600,000& * 5ha * 50/100 9,000
Oolar HEXA 50,000
OQlat ol JtE Al 4 150,000
ANEESR=Z 54 120,000 75,000 45,000
< 48,000
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SR
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Sx . s3E2 84

SN P SA(EN) - MBAY - BES

Off &t 24

=
i

2

HJ

72,000

402 212t Xt=01 &

M

120,000

48,000
72,000
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